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John Rutter; arranged by Paul Noble

:
:
>
>
=
:
=
3
—
=
=
T a
==
f
=
<
=
|
|
=
2
=
S—
-
:
>
E
|
.

1

T
f
f
+
=
| =
—
> .
f ——
T —
=
f
f
¢
f
}
¢
f
f
T
=
bring
T
T
T
;
T
f
}
El
=
| =
\
;
=
L=
L
F
;
T
T
— s
=
¢ i
£
2 |
3
:

—
=
f
&
we
—
I
}
o
=
+
!
o
=
4
=
f
f

f
-
can
7
}
=
<

J —
o
J ||
gy
r
: —
= ==
S R
4 —
=
: :
T ;
] =
— A R
] i
-
T T
3 Ed &
2 —r
—
;
:
;
=
:
T
u—
-
.
T :
] ;
=
T =
= —
- —
ca - ol for to
7 ——
=
| !
= ]
. =
! T
3 =
—
—
=
: :
T T
T —
= =
z —
—
3
— |
——
= —

(inay be performed by Wind Band alone)

for combined Wind Band and Chorus
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Arrangement produced by permission.
All rights reserved

WHAT SWEETER MUSIC

S

P legato sempre

—

-

™ ™ u’ ITT™ N T I I \ [N m LU | \ L
M ) H\ 1,- e 1ay Mﬁl. m W H I T T
gl HGEE S
m H Al nAa| Al I E m L
M AL ﬁH' P\g F\g i [N Il l %\ I | |
ki N n a {1 \ N By e L N P\ i SI il ™ o
/;l- / Ya | il (N [N e
™ rw rw kl. ﬁ}. i - N N Fre TN
e s el all ﬁ‘;
LT 1l Ll N e TN

Copyright © 1988 and 2012 Oxford University Press

Andante tranquillo . - 66
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